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QUESTION 1

You are asked to provision a BGP-signaled Layer 2 VPN for a new customer. 

What information is required for the VPN routing instance that is connected to the CE device? 

(Choose three.) 

A. the logical interfaces provisioned to the local CE device 

B. the logical interfaces provisioned to the remote PE device 

C. the Layer 2 encapsulation type 

D. the local site ID 

E. the circuit identifier 

Correct Answer: ACD 

 

QUESTION 2

Click the Exhibit button 
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You implemented the configuration shown in the exhibit on your route reflector device However, you notice traffic is
transiting the route reflector rather than taking the optimum path. Which two actions would solve the problem? (Choose
two.) 

A. Change the policy to match on the external BGP neighbor. 

B. Change the policy to match on the internal BGP neighbor. 

C. Change a direct peering session between both internal neighbors and use the multihop parameter 

D. Change a direct peering session between both internal neighbors and use the no-client- reflect parameter. 

Correct Answer: BD 

 

QUESTION 3

Which two statements describe the benefits of using point-to-multipoint LSPs in an environment with MVPNs? (Choose
two.) 

A. Performance levels within the LSPs can be guaranteed, regardless of the signaling protocol used. 
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B. A service provider network does not need to run PIM to support multicast routing. 

C. Data replication can be done by downstream LSRs and not just by the ingress PE router. 

D. Multicast traffic can be protected, regardless of the signaling protocol used. 

Correct Answer: BC 

 

QUESTION 4

You are asked to provide Layer 3 VPN services to a new customer site. The site will connect to the Layer 3 VPN using a
Layer 2 switch. Which two configuration elements meet the requirement? (Choose two.) 

A. vrf-table-label 

B. vt interface 

C. vrf-target 

D. vrf-export 

Correct Answer: AB 

 

QUESTION 5

-- Exhibit ? 

-- Exhibit -Click the Exhibit button. Referring to the exhibit, you have recently configured a Layer 3 VPN between Site 1,
Site 2, and Site 3. The CE2 device has all routes from Site 1 and Site 3. The CE3 device has all the routes from Site 1
and Site 3. CE1 is not receiving any 

routes from either Site 2 or Site 3. Which statement is correct? 

A. PE2 must redistribute the routes into OSPF using a VRF export policy. 

B. You must configure a sham link between all three sites. 
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C. OSPF is not a supported PE to CE routing protocol. 

D. You must create an export policy on PE1 to redistribute the VPN routes into OSPF. 

Correct Answer: D 
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